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YLLABUS AND SAMPLE QUESTION PARER

1 LetA= (12,3 4) and Rbea
Ro=(1,1),(2,2). 3, 3), (1. 2), 3,

lation in A given by
). (4, 4). 2, 1), (1, 3) Then R is

(@) roflexive () symmetric.
(¢) transitive (@) both refloxive & transitive

2 Letf:R — R such that f(x)= - X€R. Then [is

o
(8) injoctive (b) surjective (©) bijoctive (d) nono of these

ap o _In
3. The range of the function f(x) = "*P, ; *u[Q po=2 }

ln=r

© (1,23 ) (1.2.3.4.5.8) (0 (1L.2.3.4) (@)1,
. Lot Aand B be two sets. Then (AUB)'U(A'NB) is equal to
@ A ) A © B () none of these

5. The distance between the lines 3x + 4y = 9 and  6x + By + 15 = 0 is

W w2 © % @) nona of thase




[image: image2.jpg]6. 1 CosA + CosB + 2CosC = 2. Then Side of the VABC are in-
(@) AP (O3 (@) HP (d) Nono of theso

7. The cquation x* + y% - 2% + 4y + 5 = 0 roprosents 5
(@) a point 1b) & pair of straight lines

(©) acircle of non-zero 1 (0} none of these
8. The points (4, 1), (5, 10). (6. 9) are _

(8) vertices of an equilateral trianglo (b) collinear

(©) concyclic (d) none of thoso

9. The vertex of the parabola (y = a)? = 4a (x + a) is 5

@ Foa ) (s -a) @ (25, 20)

ey
10, 10A={1 1 1| thon i which opt

@ AS=9A ) A* © A+A () A" doos not xist
a® 4"
1 2P s the MM between a and b ifn s
P
@ o ! © 3 @1
7 ©

12, The value of cosee10° - /Bsce10” is equal to:

(@) ® 2 © 4 @ 8

© (d) none of these

© 5¥5-V5 (d) none of these




[image: image3.jpg]15, In a group of boys, the no. of arrangements of 4 boys is 12 times the no. of arrangements of 2 boys.
The no. of boys in a group is

@ 10 ® 8 © 6 (d) noo of thoso

16, Find r. if $7P, =678,

@4 s ©2z w3
L
7. Bvaluate lim X5 ue-qlulln:
2 3 3 s
® ;3 ® 3 © 3 @ 3

10, 1n a single cast with two dice the odds against drawing 7 is:

! i ) 8k 4
o ® 5 © 5:1 « 1:5

19. 10 apples are distributed at random among 6 persons. The probability that at Ieast one of them
will receive nane is

6 ey 137
Wi B isg © 5 (@) nono of these

20. Which of the follawing comes out next in the series below?

JAZ, LEX, NIV, POT, 7
() QUR (b) RSR () RUS (@) SUR

L 2@ 3 4@ 5 @B 6@ 7@ & ®
9 @ 10.() (@) 12 13.(b) M@ 150 16

17.(0)  18.(c)  19.(c)  20.(c)





